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« ENGLISH:
i) Find out and explain the following figures of speech in not more than two sentences.

1) Simili 4) Hyperbola
2) Metaphor 5) Assurance
3) Personification 6) Alliteration
i) Write a short story using ANY FOUR of the above figures of speech.

* MATH: 2 Puzzles and with the help of an  example (only 1) prove the different
properties of Whole Numbers under Addition, Subtraction and Multiplication.

. SCIENCE Prepare a power point presentation/poster presentation on the topic —
‘Fibre to Fabric’ (poster presentation can be done on a chart paper).
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» SOCIAL SCIENCE:

<+ HISTORY: 1) Collect pebbles of different shapes and sizes. Paint or stick prehistory
pictures. Use them as paper weights. and
2) Imagine that you are a historican — Collect photographs of your grandparents. Find out

who their parents were, their names and a few details about them.

Make a family tree and see how far back you can trace your family.

<+ CIVICS: Suppose you have to live in Sikkim for some time. Write a story and draw
picture of your life there. Do you think you would enjoy living at a place like this? Also
list five different things that you would miss the most if you live there.

% GEOGRAPHY: Make a model of globe and mark the heat zones along with all important
latitudes.
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Puzzle
@ Solve the following crossword puzzle, hints are given below:
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ACross
6 property of multiplication of whole numbers allows us to write 2x(4x5) =
(2x4) x5
3. The property of addition of whole numbers which states that2 + 5=5+2.
5. The numbers 0,1, 2, ... are numbers.
7. Using matchsticks, simple _______of the letters of the alphabet can be made.
9. listhe identity of whole numbers.
Douwn
2. 4,9 l6are numbers,

4. Product of two successive whole numbers.

6. Sum of two consecutive whole numbers.

8. 0Oisthe identity of whole numbers.
10. Oisnota number.
11. Difference of two consecutive whole numbers.
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@ Puzzle

Solve the following crossword puzzle, hints are given below:
Across
4. The smallest 3-digit number.
7. The process of approximating value of a number or quantity.
8. Arrangement of numbers from the greatest to the smallest number.
10. The process of relating two numbers using the symbols >, < or =,
11. Number of digits in each period when the number is written in international system.
12. The numeration system in which letters, I, V, L, X, etc. are used.

14. The system of numeration having a period of three digits and all other periods of 2-digits
each.

| €

1|

13

12

14

Down

The smallest 4-digit number.

The place to the left of ones place.

100 lakh in Indian system is also called one _____.

Arrangement of numbers from the smallest to the greatest.

The system of numeration having all periods of three digits each.

MNumber of zeros in one crore.

The value of 111- 100.

Activity

Discuss with your friends

You have a small party at home. You want to arrange 6 rows of chairs with 8 chairs in each row
for the visitors. The number chairs yvou will need is 6 x 8. You find that the room is not wide

enough to accommaodate rows 8 chairs. You decide to have 8 rows of chairs with 6 chairs in each
row. How many chairs do you require now? Will you require more number of chairs?

Is there a commutative property of multiplication?

Beowmwps
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